Village of Palmetto Bay

Bid Tabulation & Checklist

Annual Roadway and Resurfacing - Village-Wide Bid Open Date: December 11, 2019 at 3:00pm



	H & R Paving, Inc.	Persant Construction Company, Inc.
	Bids per Location	
SW 92nd Court from 164th Street North to End of Cul-de-Sac	\$ 10,925.00	\$ 13,572.00
SW 94th Court from 181st Terrace South to Dead End	\$ 6,821.99	\$ 7,520.00
SW 77th Court from 173rd Street North to Dead End	\$ 6,419.80	\$ 7,744.00
SW 78th Avenue from 170th Street South to Dead End	\$ 13,589.00	\$ 13,390.00
SW 169th Terrace from 92nd Avenue East to Cul-De-Sac	\$ 10,351.60	\$ 11,753.20
SW 80th Avenue from 168th Street North to SW 166th Street	\$ 19,152.00	\$ 21,169.00
SW 78th Court from 166th Street South	\$ 16,101.00	\$ 18,448.00
SW 166th Street from 82nd Avenue to 81st Avenue	\$ 12,988.00	\$ 13,807.00
SW 164th Street from 82nd Avenue	\$ 11,760.00	\$ 13,234.00
SW 84th Avenue from 163rd to 164th Street	\$ 11,493.75	\$ 12,611.10
SW 164th Terrace from Old Cutler Road East to 72nd Avenue	\$ 17,148.70	\$ 24,119.90
SW 161st Street from 80th Avenue to 162nd Street	\$ 33,454.00	\$ 35,969.00
Grand Total of all bid forms 1-12	\$ 170,204.84	\$ 193,337.20

Note: Strikethrough denotes mathematical error by bidder.

H&R Paring

BID FORM 1 OF 13

LOCATION: SW 92 COURT FROM 164 STREET NORTH TO END OF CUL-DE-SAC - APPROX 900 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	50	110.00	5500.°
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	700	3.88	3497.00
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	1	350.€	350.00
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH		780.00	280.0€
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	4	8.60	32.00
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	0
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	100	3.00	300.00
M5R-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	117	3.00	351.00
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	20	6. 20	120.00
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.00	500.€

TOTAL BID FOR: SW 92 COURT FROM 164 STREET NORTH TO END OF CUL-DE-SAC

\$10,975.04

Grand Total 1-12 - #170, 204.84

BID FORM 2 OF 13

LOCATION: SW 94 COURT FROM 181 TERRACE SOUTH TO DEAD END - APPROX 370 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	21	1/0.00	2310.€
M3R-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	370	9.45	3499.99
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	0	0
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	4	6.00	24.00
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	0
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	100	4.00	400.0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	11	8.09	88.0=
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.08	500.00

TOTAL BID FOR: SW 94 COURT FROM 181 TERRACE SOUTH TO DEAD END

\$ 6,821.99

BID FORM 3 OF 13

LOCATION: SW 77 COURT FROM 173 STREET NORTH TO DEAD END - APPROX 380 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	22	110.0	2420.€
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	380	9.21	3499.80
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	0	C
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	0	0	0
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	0
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	0	0	0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	Ø
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	l	500.00	500.00

TOTAL BID FOR: SW 77 COURT FROM 173 STREET NORTH TO DEAD END

\$6419.801

BID FORM 4 OF 13

LOCATION: SW 78TH AVE FROM 170 STREET SOUTH TO DEAD END - APPROX 1,350 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	75	1/0.0	8250. 3375.°C
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1350	2.50	3375.0
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	0	0
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	8	6.00	48.00
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	0
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	200	6.00	1200.0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	27	8.00	216.2
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.0	500.2

TOTAL BID FOR: SW 78TH AVE FROM 170 STREET SOUTH TO DEAD END

\$ 13,589. °C

BID FORM 5 OF 13 LOCATION: SW 169 TERRACE FROM 92ND AVENUE EAST TO CUL-DE-SAC - APPROX 794 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	45	110.00	4950. 2
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	794	4.40	3493.60
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	1	350.00	350.€
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	0	0
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	5	6,00	30
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	0
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	100	4,00	400.0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	90	6.00	540,0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	75	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	11	8.05	88.2
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.00	500.00

TOTAL BID FOR: SW 169 TERRACE FROM 92ND AVENUE EAST TO CUL-DE-SAC

\$10,351.60

BID FORM 6 OF 13 LOCATION: SW 80 AVENUE FROM 168 STREET NORTH TO SW 166 STREET - APPROX 1,800 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
			/	11.5 06	1 1 1 1 1 1
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	100	110.00	11,000.
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1800	7.00	3600.00
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	280.6	280.=
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	26	6.00	156.0
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	90	5.00	450.00
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	200	5.60	1.000 .:
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	189	6.00	7134.00
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	129	8.00	1032.2
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0		
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.00	500. 2

TOTAL BID FOR: SW 80 AVENUE FROM 168 STREET NORTH TO SW 166 STREET

\$ 19,152. °C/

BID FORM 7 OF 13

LOCATION: SW 78TH COURT FROM 166TH STREET SOUTH - APPROX 1,500 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	84	110.00	9340.3
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1500	2.33	3495.€
N/SR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	3	350. €	1050.
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	0	0
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	10	6.00	60. 4
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	72	4.00	288.€
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	200	4.00	800.2
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	70	6. &	420.4
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	3/	8.66	248,0
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.00	500.00

TOTAL BID FOR: SW 78TH COURT FROM 166 STREET SOUTH

\$ 16,101.00

BID FORM 8 OF 13 LOCATION: SW 166 STREET FROM 82 AVENUE TO 81 AVENUE - APPROX 1,100 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	42	110,00	6830.€
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1100	3.18	3498.0
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	780.€	280.2
N/SR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	9	10.0	90,0
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	96	4.0	384.=
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	200	4.00	800.0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	72	6.20	432.0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	23	8.00	184.
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.5	500.00

TOTAL BID FOR: SW 166 STREET FROM 82 AVENUE TO 81 AVENUE

\$ 12,988. °=/

BID FORM 9 OF 13

LOCATION: SW 164TH STREET FROM 82ND AVENUE - APPROX 1,000 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	56	110.50	6/60, 4
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1,000	3,50	3500.€
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,		_	Τ	
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	180,€	280.00
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	6	12.00	72.0
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	83	4.00	332.€
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	100	4.00	400.00
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	70	6.00	420.9
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	12	8.00	96.4
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
TCM	MAINTENANCE OF TRAFFIC	LUMP SUM	1	500.0	500,00

TOTAL BID FOR: SW 164TH STREET FROM 82ND AVENUE

\$ 11,760, 0c

BID FORM 10 OF 13

LOCATION: SW 84TH AVENUE FROM 163RD TO 164TH STREET - APPROX 667 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	38	110.65	4180.00
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	667	5.25	3501.75
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	-3	350,00	1050.
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	4	280,0	1120.
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	9	8.00	72.0
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	0
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	700	4,00	800,0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	27	10.00	270.
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	/	5000	500.00

TOTAL BID FOR: SW 84TH AVENUE FROM 163RD TO 164TH STREET

\$ 11, 493.75/

BID FORM 11 OF 12 LOCATION: SW 164TH TERRACE FROM OLD CUTLER RD EAST TO 72ND AVENUE - APPROX 1,667 SQ YDS

EID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
M5R-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	93	110,0	10,230.
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1667	2.10	3500,70
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	O	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	3	180,00	840.00
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	9	8.00	72,00
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	122	4.00	488.€
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	700	4.60	800.4
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	85	6.00	510,0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	26	8.09	708.00
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	/	500,00	500,65

TOTAL BID FOR: SW 164TH TERRACE FROM OLD CUTLER RD EAST TO 72ND AVENUE

\$ 17,148.70

BID FORM 12 OF 13

LOCATION: SW 161ST STREET FROM 80TH AVENUE TO 162ND STREET - APPROX 3,695 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	206	110.€	22,460.
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	3695	2.60	7390.5
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,				
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	0	0
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	0	6
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	13	8.00	104,00
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	0	Ö
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	200	4,00	800.0
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	120	6,00	720,0
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	0	0
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	28	10.00	280.€
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	0	0
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	/	1500.0	1,500,

TOTAL BID FOR: SW 161ST STREET FROM 80TH AVENUE TO 162ND STREET

\$ 33,454, ans

BID FORM 13 OF 13 ADDITIONAL ITEMS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST
				7. 71	40.00
MSR-28	RE-GRADE EXISTING SWALE (WITHOUT SOD; WHEN REQUIRED NU THE ENGINEER)	SQUARE YARDS		20.00	20,0
MSR-29	REMOVAL OF EXISTING PAYMENT	SQUARE YARDS	-	20,00	20,00
MSR-30	REGULAR EXCAVATION	SQUARE YARDS	1	18.0	18.00
MSR-31	BORROW EXCAVATION (CONTRACTOR SUPPLIED, TRUCK MEASUREMENT; THIS ITEM IS CONTINGENT	Cubic YArds	1	18.00	18. =
	UPON FIELD CONDITIONS & MAY BE INCREASED, DECREASED, OR ELIMINATED BY ENGINEER	CUBIC YARDS	/	18.8	18.5
MSR-32	EMBANKMENT FOR ROAD BUILD-UP (BORROW MATERIAL FROM CONTRACTOR'S SOURCE)	CUBIC YARDS	1	70.00	20.€
MSR-33	EMBANKMENT MATERIAL FOR SHOULDER (BORROW MATERIAL FROM CONTRACTOR'S SOURCE)	CUBIC YARDS	/	20. 5	20.€
MSR-34	SODDING (PENSACOLA BAHIA OR MATCH EXISTING; INCLUDES WATERING	CUBIC YARDS		20.4	20.4
MSR-35	RESET EXISTING POST AND SIGN	EACH	1	200. €	200.
ADDL	4"16" CONCRETE SIDEWALK	SQUARE FEET	1	50.5	50.9
ADDL	ADA ARMOR TILE	EACH	1	450.4	450.3

TOTAL BID FOR: SW 161ST STREET FROM 80TH AVENUE TO 162ND STREET

Ċ			
~_			

PERSANT

FID FORM 1 OF 13

IDCATION: SW 92 COURT FROM 164 STREET NORTH TO END OF CUL-DE-SAC - APPROX 900 SQ YDS

DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
ASPHALT CONCRETE (TYPE 1" THICK)	TON	50	\$	160.00	\$	8,000.00
MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	900	S	2.50	S	2,250.00
ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
DECREASED OR ELIMINATED BY ENGINEER)	EACH	2	S	750.00	\$	1,500.00
ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	\$	500.00	\$	500.00
REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	4	S	15.00	\$	60.00
TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	50	\$	10.00	\$	500.00
YELLOW, SOUD; 6"	LINEAR FOOT	50	\$	1.50	\$	75.00
TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12°)	LINEAR FOOT	0	\$	2.00	\$	•
THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	S	3.00	\$	•
TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	17	\$	5.00	\$	85.00
THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	17	\$	6.00	\$	102.00
MAINTENANCE OF TRAFFIC	LUMP SUM	1_	\$	500.00	\$	500.00
	ASPHALT CONCRETE (TYPE 1" THICK) MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY) ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY ENGINEER) ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER) REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS) TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6") YELLOW, SOLID; 6" TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 24")	ASPHALT CONCRETE (TYPE 1" THICK) ASPHALT CONCRETE (TYPE 1" THICK) MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY) ADJUST MANHOLE (THIS FIEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY ENGINEER) ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER) EACH REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS) EACH TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6") UINEAR FOOT THEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12") UINEAR FOOT THERMOPLASTIC (WHITE: SOLID; 12") UINEAR FOOT THEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24") UINEAR FOOT UINEAR FOOT UINEAR FOOT	ASPHALT CONCRETE (TYPE 1" THICK) ASPHALT CONCRETE (TYPE 1" THICK) MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY) ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY ENGINEER) ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER) REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS) TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6") LINEAR FOOT TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 24") LINEAR FOOT 17 THERMOPLASTIC (WHITE: SOLID; 24")	ASPHALT CONCRETE (TYPE 1" THICK) ASPHALT CONCRETE (TYPE 1" THICK) MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY) ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY ENGINEER) ADJUST EXISTING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER) REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS) TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6") YELLOW, SOLID; 6" TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 24") UNEAR FOOT 17 \$ THERMOPLASTIC (WHITE: SOLID; 24")	ASPHALT CONCRETE (TYPE 1" THICK) ASPHALT CONCRETE (TYPE 1" THICK) MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY) ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY ENGINEER) ADJUST EXISTING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER) REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS) TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6") YELLOW, SOLID; 6" LINEAR FOOT 50 TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 24") LINEAR FOOT 17 \$ 5.00 THERMOPLASTIC (WHITE: SOLID; 24")	ASPHALT CONCRETE (TYPE 1" THICK) ASPHALT CONCRETE (TYPE 1" THICK) MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY) ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY ENGINEER) ADJUST EXISTING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER) REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS) TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6") YELLOW, SOLID; 6" LINEAR FOOT 50 \$ 10.00 \$ TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 12") THERMOPLASTIC (WHITE: SOLID; 24") LINEAR FOOT 17 \$ 5.00 \$ THERMOPLASTIC (WHITE: SOLID; 24")

DTAL BID FOR: SW 92 COURT FROM 164 STREET NORTH TO END OF CUL-DE-SAC

13,572.00

BD FORM 2 OF 13

LOCATION: SW 94 COURT FROM 181 TERRACE SOUTH TO DEAD END - APPROX 370 SQ YDS

BID TEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTA	L COST
MSI-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	20	S	240.00	S	4,800.00
MSI-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	370	S	6.00	S	2,220.00
MSI-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	S	750.00	\$	•
MS1 -5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	\$	500.00	\$	
MSI-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	0	\$	15.00	\$	
MSI-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	\$	10.00	\$	-
MSI -10	YELLOW, SOUD; 6"	LINEAR FOOT	0	\$	1.50	\$	
MSI -13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	2.00	\$	•
MSI -14	THERMOPLASTIC (WHITE: SOUD; 12")	LINEAR FOOT	0	\$	3.00	\$	-
MSI -17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	5.00	\$	
MS1-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	6.00	\$	-
мог	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	500.00	\$	500.00

TOTAL BID FOR: SW 94 COURT FROM 181 TERRACE SOUTH TO DEAD END

\$ 7,520.00

BD FORM 3 OF 13

LOCATION: SW 77 COURT FROM 173 STREET NORTH TO DEAD END - APPROX 380 SQ YDS

BID TEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
MSF-2	ASPHALT CONCRETE (TYPE 1° THICK)	TON	21	S	240.00	\$	5,040.00
MSF-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	380	S	5.80	\$	2,204.00
MSF-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	\$	750.00	\$	
MSF-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	\$	500.00	\$	
MSF-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	0	\$	15.00	\$	-
MSF-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOUD; 6")	LINEAR FOOT	0	\$	10.00	\$	-
MSF-10	YELLOW, SOLID; 6°	LINEAR FOOT	0	\$	1.50	\$	
MSF-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	2.00	\$	
MSF-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	S	3.00	\$	•
MSF-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	5.00	\$	
MSF-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	6.00	\$	-
мо	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	500.00	\$	500.00

TOTAL BID FOR: SW 77 COURT FROM 173 STREET NORTH TO DEAD END

7 744 00

BD FORM 4 OF 13

LOCATION: SW 78TH AVE FROM 170 STREET SOUTH TO DEAD END - APPROX 1,350 SQ YDS

BID TEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT	UNIT PRICE		AL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	74	\$	145.00	S	10,730.00
MSR 3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1350	S	1.60	S	2,160.00
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	\$	750.00	\$	-
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	S	500.00	\$	-
MSF 6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	0	\$	15.00	\$	-
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	\$	10.00	S	-
MSF-10	YELLOW, SOLID; 6"	LINEAR FOOT	0	\$	1.50	\$	-
MSF-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	2.00	\$	-
MSP-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	3.00	\$	-
MSF-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	5.00	\$	-
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24°)	LINEAR FOOT	0	\$	6.00	\$	-
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	500.00	\$	500.00
MU	MAINTENANCE OF TRAFFIC	LOMPSOM	11	19	300.00	13	_

TOTAL BID FOR: SW 78TH AVE FROM 170 STREET SOUTH TO DEAD END

13,390.00

BID FORM 5 OF 13 LOCATION: SW 169 TERRACE FROM 92ND AVENUE EAST TO CUL-DE-SAC - APPROX 794 SQ YDS

вю пем но.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTA	AL COST
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	44	\$	170.00	\$	7,480.00
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	794	S	2.80	\$	2,223.20
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	1	\$	750.00	5	750.00
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE	War and the second	11/				
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	\$	500.00	\$	-
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	4	\$	15.00	\$	60.00
MSR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	50	\$	10.00	\$	500.00
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	50	S	1.50	\$	75.00
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	2.00	\$	-
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	3.00	\$	-
MFR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	15	\$	5.00	\$	75.00
MFR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	15	S	6.00	\$	90.00
мот	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	500.00	\$	500.00
-							44 000 00

TOTAL BID FOR: SW 169 TERRACE FROM 92ND AVENUE EAST TO CUL-DE-SAC

\$ 11,753.20

BID FORM 6 OF 13

LOCATION: SW 80 AVENUE FROM 168 STREET NORTH TO SW 166 STREET - APPROX 1,800 SQ YDS

BID FEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
MSR 2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	99	\$	135.00	S	13,365.00
MSR 3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1800	S	1.20	S	2,160.00
MSR 4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	\$	750.00	\$	
MSR 5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	4	\$	500.00	\$	2,000.00
MSR 6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	12	\$	15.00	S	180.00
MSR 9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	160	\$	10.00	\$	120.00
MSR 10	YELLOW, SOUD; 6"	LINEAR FOOT	160	\$	1.50	S	240.00
MSR 13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	176	\$	2.00	\$	320.00
MSR 14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	176	\$	3.00	S	528.00
MSR 17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	UNEAR FOOT	146	\$	5.00	S	880.00
MSR 18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	146	\$	6.00	S	876.00
мот	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	500.00	\$	500.00

TOTAL BID FOR: SW 80 AVENUE FROM 168 STREET NORTH TO SW 166 STREET

\$ 21,169.00

BID FORM 7 OF 13 LOCATION: SW 78TH COURT FROM 166TH STREET SOUTH - APPROX 1,500 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	83	S	140.00	S	11,620.00
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1500	S	1.50	S	2,250.00
ASR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	3	S	750.00	5	2,250.00
ASR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	S	500.00	\$	500.00
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	12	S	15.00	S	180.00
ISR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	170	\$	2.00	\$	340.00
45R-10	YELLOW, SOLID; 6"	LINEAR FOOT	170	\$	1.50	S	255.00
15R-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	60	\$	2.00	\$	120.00
1SR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	60	\$	3.00	S	180.00
1SR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	23	S	5.00	5	115.00
ISR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	23	S	6.00	S	138.00
IOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	S	500.00	\$	500.00

TOTAL BID FOR: SW 78TH COURT FROM 166 STREET SOUTH

\$ 18,448.00/

BD FORM 8 OF 13

LOCATION: SW 166 STREET FROM 82 AVENUE TO 81 AVENUE - APPROX 1,100 SQ YDS

BID TEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
MSF-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	61	\$	150.00	S	9,150.00
MSF-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1100	\$	2.00	\$	2,200.00
MSF-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	\$	750.00	\$	-
MSF-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	\$	500.00	\$	500.00
MSF-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	12	\$	15.00	\$	180.00
MSF-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	200	\$	2.00	S	400.00
MSF-10	YELLOW, SOUD; 6"	LINEAR FOOT	200	\$	1.50	\$	300.00
MSI -13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	67	\$	2.00	\$	134.00
MSI-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	67	\$	3.00	S	201.00
MSI-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	22	\$	5.00	\$	110.00
MSI-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	22	S	6.00	\$	132.00
мог	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	500.00	\$	500.00
						_	12 007 00

TOTAL BID FOR: SW 166 STREET FROM 82 AVENUE TO 81 AVENUE

\$ 13,807.00

BD FORM 9 OF 13

LOCATION: SW 164TH STREET FROM 82ND AVENUE - APPROX 1,000 SQ YDS

BID I EM NO.	DESCRIPTION	UNIT	QUANTITY	NTITY UNIT PRICE		TOTAL COST	
MSR 2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	55	\$	160.00	\$	8,800.00
MSR 3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1000	S	2.20	S	2,200.00
MSR 4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,	1		1			
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	\$	750.00	\$	
MSR 5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE					S	
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	1	\$	500.00	S	500.00
MSR 6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	4	\$	15.00	S	60.00
MSR 9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOUD; 6")	UNEAR FOOT	70	\$	5.00	S	350.00
MSR 10	YELLOW, SOLID; 6"	LINEAR FOOT	70	\$	1.50	\$	105.00
MSR 13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	63	\$	2.00	\$	126.00
MSR 14	THERMOPLASTIC (WHITE: SOLID; 12")	UNEAR FOOT	63	\$	3.00	S	189.00
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	14	\$	5.00	\$	70.00
MSR 18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	14	\$	6.00	\$	84.00
MOT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	5	750.00	\$	750.00
						-	12 22 1 22

TOTAL BID FOR: SW 164TH STREET FROM 82ND AVENUE

\$ 13,234.00

ID FORM 10 OF 13

OCATION: SW 84TH AVENUE FROM 163RD TO 164TH STREET - APPROX 667 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	37	\$	180.00	\$	6,660.00
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	667	S	3.30	S	2,201.10
MSR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	1	S	750.00	S	750.00
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	4	S	500.00	S	2,000.00
MSR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	0	\$	15.00	S	-
MSI-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	0	\$	10.00	\$	-
M51-10	YELLOW, SOUD; 6"	LINEAR FOOT	0	\$	1.50	S	-
MSR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	0	S	2.00	\$	-
MSR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	0	\$	3.00	\$	_
MSR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	5.00	\$	-
MSR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	0	\$	6.00	5	-
мот	MAINTENANCE OF TRAFFIC	LUMP SUM	1	S	1,000.00	\$	1,000.00

OTAL BID FOR: SW 84TH AVENUE FROM 163RD TO 164TH STREET

\$ 12,611.10

ID FORM 11 OF 12

OCATION: SW 164TH TERRACE FROM OLD CUTLER RD EAST TO 72ND AVENUE - APPROX 1,667 SQ YDS

BID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
MSR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	92	\$	170.00	\$	15,640.00
MSR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	1667	\$	2.70	S	4,500.90
MSI-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,						
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	0	S	750.00	\$	
MSR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE						
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	3	S	500.00	S	1,500.00
MSI-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	12	\$	15.00	15	180.00
MSk-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	180	15	2.00	\$	360.00
MSR-10	YELLOW, SOLID; 6"	LINEAR FOOT	180	S	1.50	S	270.00
MS 1-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12*)	LINEAR FOOT	81	\$	2.00	\$	162.00
MS 1-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	81	S	3.00	5	243.00
MS t-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	24	\$	5.00	\$	120.00
MS4-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	24	\$	6.00	\$	144.00
маг	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	1,000.00	\$	1,000.00
	DE CHARGE TRANSPORTE TO AN OVER CONTRACT TO THE AUGUST					-	2111000

TOTAL BID FOR: SW 164TH TERRACE FROM OLD CUTLER RD EAST TO 72ND AVENUE

\$ 24,119.90/

BID FORM 12 OF 13

LOCATION: SW 161ST STREET FROM 80TH AVENUE TO 162ND STREET - APPROX 3,695 SQ YDS

ID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
ISR-2	ASPHALT CONCRETE (TYPE 1" THICK)	TON	203	\$	135.00	\$	27,405.00
ISR-3	MILLING EXISTING PAVEMENT (1") PAYMENT WITH GREATER CUTS WILL BE PAID PROPORTIONALLY)	SQUARE YARDS	3695	S	1.20	\$	4,434.00
ISR-4	ADJUST MANHOLE (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE INCREASED,					\$	
	DECREASED OR ELIMINATED BY ENGINEER)	EACH	2	\$	750.00	\$	1,500.00
ISR-5	ADJUST EXISITING VALVE BOXES (THIS ITEM IS CONTINGENT UPON FIELD CONDITIONS AND MAY BE					\$	-
	INCREASED, DECREASED OR ELIMINATED BY THE ENGINEER)	EACH	0	\$	500.00	\$	-
ISR-6	REFLECTIVE PAVEMENT MARKERS (CLASS B: MONO OR BI-DIRECTIONAL, ALL COLORS)	EACH	12	\$	15.00	\$	180.00
ISR-9	TEMPORARY PAVEMENT MARKING (WHITE/YELLOW: SOLID; 6")	LINEAR FOOT	210	\$	2.00	\$	420.00
ISR-10	YELLOW, SOLID; 6"	LINEAR FOOT	210	\$	1.50	\$	315.00
ISR-13	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 12")	LINEAR FOOT	88	\$	2.00	\$	176.00
ISR-14	THERMOPLASTIC (WHITE: SOLID; 12")	LINEAR FOOT	88	\$	3.00	\$	264.00
SR-17	TEMPORARY PAVEMENT MARKING (WHITE: SOLID; 24")	LINEAR FOOT	25	\$	5.00	\$	125.00
ISR-18	THERMOPLASTIC (WHITE: SOLID; 24")	LINEAR FOOT	25	\$	6.00	5	150.00
OT	MAINTENANCE OF TRAFFIC	LUMP SUM	1	\$	1,000.00	\$	1,000.00

TOTAL BID FOR: SW 161ST STREET FROM 80TH AVENUE TO 162ND STREET

\$ 35,969.00

BID FORM 13 OF 13 ADDITIONAL ITEMS

ID ITEM NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE		TOTAL COST	
6R-28	RE-GRADE EXISTING SWALE (WITHOUT SOD; WHEN REQUIRED NU THE ENGINEER)	SQUARE YARDS	1	\$	3.00	S	3.00
FR-29	REMOVAL OF EXISTING PAYMENT	SQUARE YARDS	I	S	6.00	\$	6.00
ASR-30	REGULAR EXCAVATION	SQUARE YARDS	1	S	7.50	\$	7.50
ASR-31	BORROW EXCAVATION (CONTRACTOR SUPPLIED, TRUCK MEASUREMENT; THIS ITEM IS CONTINGENT						
	UPON FIELD CONDITIONS & MAY BE INCREASED, DECREASED, OR ELIMINATED BY ENGINEER	CUBIC YARDS	1	\$	10.00	\$	10.00
45R-32	EMBANKMENT FOR ROAD BUILD-UP (BORROW MATERIAL FROM CONTRACTOR'S SOURCE)	CUBIC YARDS	1	\$	15.00	\$	15.00
ASR-33	EMBANKMENT MATERIAL FOR SHOULDER (BORROW MATERIAL FROM CONTRACTOR'S SOURCE)	CUBIC YARDS	1	\$	15.00	\$	15.00
ASR-34	SODDING (PENSACOLA BAHIA OR MATCH EXISTING; INCLUDES WATERING	CUBIC YARDS	1	5	8.00	\$	8.00
45R-35	RESET EXISTING POST AND SIGN	EACH	1	\$	250.00	\$	250.00
UDL	4"16" CONCRETE SIDEWALK	SQUARE FEET	1	\$	4.50	\$	4.50
UDL	ADA ARMOR TILE	EACH	1	\$	500.00	\$	500.00
TOTAL BID F	OR: SW 161ST STREET FROM 80TH AVENUE TO 162ND STREET					\$	819.00